r

CENTRE FOI}gé‘[)ﬂEMATICS_&.STA.’TISTICS TRIVANDRUM
Phone; 8113887320, 949 V1 62 E mail: Gmsesi&{at@gmail.com, Www.cmsnetiss.com

T.B.C. : DFSE-D-STT

Serial

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

1009732 TEST BOOKLET

STATISTICS
" Paper 11

Time Allowed : Two Hours Maximum Marks : 200
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or diserepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

8.  You have to enter your Roll Number on the
Test Booklet in the Box provided alongside,

DO NOT write anything else on the Test Booklet,

4.  This Test Booklet contains B0 items (questions). Each item comprises four responses (answers). You
will select the response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any ease, choose
ONLY ONE response for each item.

5.  You have to mark all your responses ONLY on the separate Answer Sheet provided, See directions
in the Answer Sheet,

6. All items carry equal marks.

7. Before you proceed to mark in the Angwer Sheet the response to various items in the Test Booklet,
you haveito fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet,

9.  Sheets for rough work are appended in the Test Eooklet at the end.

10. Penalty for wrong answers : :

THERE WILL. BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. Foreach question for which a wrong answer
has I'Eeen given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty, _

(ii)  Ifa candidate gives more than one answer, it will be treated a5 a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no-answer 18 given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO S0

DFSE-D-STT (1-D)




CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 9496817167 Email: cmscsirnet@gmail.com, www.cmsnetiss.com

1. Suppose the probability mass function of a
random variable X under the parameter 6 = 6,
and 0 = 64, 6, # 0y is given by

X 0 1 2 3
Pg,® | 001 | 004 | 050 | 045
Pe,(®) | 002 | 008 | 040 | 050

Define a test function @ such that
JL if x=0,1
@plx)=
|0, if x=2,8
For testing Hg : © = 8; against Hy 8 = 8, the
test @ is
{a} = a most powerful test at level 0-05
(b) a biased test
(c) | testwith power 0-890
(d)e. test of size 001

2. Consider the distribution having probability
density function of a random variable X as

: -1-, D<x<8

fix,8) =480

0, -eclsewhere

Let 1 =X < 1:5 be the critical region to test the

hypothesis Hg : 8 = 1-5 against H; : 8 = 2,

Then

(a) size of the testis 0 and testis unbiased

(b) dize of the test is % and test is unbiased

(c) size of the test is % and test is biased

(d) size of the test ia :1? and tegtisunbiased
DFSE-D-STT

3.

(2-D)

Let X be a random variable with pmf under
H, and H, given by

X 1 2 3 4 5 6

Po,(*¥) | 0-01 | 0-01 | 0-01 | 0-01 | 0-01 | 0-95
Po,(X) | 0-05 | 0-04 | 0:03 | 0-02 | 0-01 | 0-85
Consider a test function ¢(x) as
1, ifX=12
px)=4025, if X=3
Q, otherwise

Then which one of the following is correct 7

{a) o(x) is a most powerful test of level
a=003

(b) ¢x) i8 a most powerful test of level
o = 0-03 with power 0-0976

(e} (x) has size 0-0225 and power 0-0975

but it is not a most powerful test with
level o = 0:03

(d) @lx) is not'a most powerful test of level
a = -0225

Which one of the following parameters is
correct in case of Likelihood Ratio Test
(LRT)?

(a) In LRT, eontrol is not affécted over the
probabilities of type-I error by suitably
choosing the cut-off pointdy

(b) 'LRT always gives unbiased test

{c} When null hypothesis is composite, the
LR critical region will be.always similar

(d) Under certain assumptions, an LRT will
be consiztent .

An estimator to be a good estimator,
(a) ' ~should be efficient but not necessarily

unhbiased

(b} should be econsistent but not necessarily
efficient

{(¢)  should be unbiased but not necessarily
sufficient

idyy should be  unbiased,
sufficient and efficient

consistent,
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6. For Cauchy distribution, consider the
following statements :
1. Sample mean is consistent estimator of
the population median.
2. Sample median is consistent estimator
of the population median.
Which of the above statements is/are correct ?
(a) 1only
(b) 2only
(c) Bothland?2
(d) Neither1 nor 2
7. Let X be distributed Poisson variate
with mean A > 0.'Then unbiased estimator of
e T ohere k >0is
(a) }s.x
b) x=*
(€) =K~
(d) kX
8 If Xy X, X3 .. X, are random variables
having joint pdf f, (xy, x5, ..., x,); 8 €8, then
Fisher's information about 8 contained in the
observation X is given by
a2 log, fo(x)
(&) = E i - [ e
b B{ 0% ]
42 2
a<1 falx)
(b) IH = Eﬂ.{— __';f‘;___z—l}]
© Iy 218 B
| o0 )
(d} None of the above
DFSE-D-STT

10.

(3-D)

Let X;, X,, Xj, ..., X, be a random sample
from a population with pdf

flx,0)=0x""10<x<1;6>0

The sufficient statistic for 0

factorization theorem will be

using

(a) zn: Xi.
=1

(b) ﬁ X
j=1
n

© Y X7

@ > x
i=l
Consider & problem of estimation of

parameter 8 with respect to an absolute error
logs function. Hence L(6, d) = |6.=d|. The
Bayes rule is given by

fa)] Mean of the posterior distribution of 8
given X
(b} “Mode of the posterior distribution of 8

given X

(¢} Median of the posterior distribution of 8
given X

(d) " MLE of @ in the posterior distribution of

B given X
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11. Let X;, X5, X3, ..., X, be a random sample
from uniform distribution - U(0, 6) with
fix, 8) = %; 0 < x < 0, then the consistent
estimator for % is
(@) Xq

(F v |
(b) ]_[ Xi)
Li=1 /
",l
ra
(c) “‘[ X, |11
i=1 /
(d) }:1:1'!

12. From a sampling from N(B, 1) using SPRT
for ftesting H,:8=0 against 6=2, the
ASN function for & = 005 and p = 01 is
Bin) = LiB)log B + 11. — Li8)} log A - Hios

E(Z)
(a) “vA=18,B = % E(Z)=4{1 -8}
(b) A =18, B= >, E(Z) = 48 — 1)
: 18
2
(@=A= = B=18 EZ) =41-0)
19
2
d A= —9~B=13. EZ)=4-0

13. Let X be a random variable with density
function fix) = fe ¥ Di<.x < =, Then the
central 95% confidence limits for 8 with large
sample size n are

196 = 196

(a) f_u 3 ]x, [1—— IX
Jn Jn )

19611 [, 1961

T TP

\ ‘h'r; }'; L n lx

(e) |1+1§E]é.L1—1—E”i

\ X n JX

f . o i -

@ [1+328]%, [1-0m
h n / \ n J
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14.

15.

16.

(4-D)

Let X and Y be independent N(8, crf) and

N(e, cg ), where c‘lq

the sufficient statistic for 8 is

and cg are known. Then

(a) X +§¥
X
B = L
o1 G2
2 2
© +L
{TI G'&
(d) i ol
0_2 l."!2
i 2

Suppose that X7 X;, Xg,..., X, be a random
sample of size n. An estimator T, calculated
from this sample is said to be a consistent
estimator of parameter @ for alle > 0, n >0

and n = m if

(a) E(T,) =0
(b) lim V(T =0
e
(e) Pl|Ta=8}l<el>1-n
d PlU|T,-@|l<el<l=n

Let Xy, X5, X, ..., X, be a random sample
from U(0, 58).

Define X1y = min (X4, X, X5, ... X)) and

X,y = max (X;, X5, Xq, ... X;). Then the

maximum likelihood estimator of 8 is

1
(&) E :(.-1..
(b) X-I_ll
@ O Xg

1
i} E K,n-,
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17. Let X, s Kgy aeey ii.d.
1 Xy Xg Xp be an iid. random 21. Let X,, X,, ..., X, be a random sample from

variables with Poisson (A). The MLE of A is
normal population with known variance.

(@ X
& Consider the two estimators, sample mean
1 =
(b) ;Z X; - X)? and sample median for mean of the normal
=
=k ‘population. Then efficiency of sample median
(c) X - X(]_) " i
with respect to sample mean is
n
(@ Z X; {(a) =
i=1 (b) .E
18. Let X,, X, X;, ..., X, be a random sample 5
from Ny, 1). Theé uniformly" minimum (c) 5
variance unbiased estimator (UMVUE) of ;.12 .
GG (d) 2rn
is given by
(a) (X)*
(b) n(X)*
@ X P> 22. For a random sample X;, X5 Xy, ..., X, from
n

Nip, o®) with i known, the. Minimum

- =
i Taer : . :
dF ni(X =1y Variance Unbiased Estimator (MVUE) for the

19. Let I(6) be the Fisher information on 8, unknown o- is
supplied by the sample. If T is an unbiased n
estimator of y(8), then the variance of T will E (X; — )
be: {a) i=1 N
n —
6
5
{ 2 S LU A
B} I:G} n x ]2
- L Ib _jl"__E|
(v ¥ } Z [ n J
(b < Lo, o=
1(6)
(c) - i .
[ s _— -
L&) Z (X; - X)8
(d) < L (c) ELB.
()] n-1
20. Bhattacharya bound. is the generalisation of
the &
{a) Cramer—Rao Inequality § (X — p@
(b} Rao—Blackwell theorem t
(¢} Neyman-Pearson Lemma (d) =l

{d) Chapman-Robbins-Kiefer bound

DFSE-D-STT ' (5-D)
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23. Consider a random sample (8, 4, %, 1} from
the distribution having most general form of

the probability mass function
x BA'(8)
fix, 0) = [E] expl[A(8) + C(x)]

where A’(8) is the derivative of A(8) with

respect to 6. The maximum likelihood
estimator of B is
La) E
8
(b) 2
(c) E
27
5
(d) —5
24, Let
{706, 6-89, 6-82, 7-32, 7-48, 6:93, 7-17, 6:78]
be "a random sample from uniform |27
U{G--;—. B+%j distribution. Then which

one of the following would be MLE for 8 ?
(a) . 699 as well as 7-10
(b)  6-87 as well ag 7-10
(ch7-54 as well as 6-92

(d)" 692 aswell as 6:87

25. Let A bemost efficient estimator and B is less
efficient estimator with efficiency e. Then
CoviA, B —AYequals to

(a) O
(b} e
(e) -32
(d) l-e
DFSE-D-STT (6-D)

26.

To estimate the parameter A (variance) of
Poisson distribution, a statistic is defined as
n

> & -X?

2 i=1

8% = from a random sample of

n-—1

size n from the distribution. Then Var(S%) will
be always greater than or equal to

(&)
n
(b) n— 1)A
n
nk
(c)
n-—1
(d} A
n+1

Let X;, X, and X5 be iid normal variates
with mean 8 and variance 1. Define a statistic
T = X; - X; = X3 for unknown parameter 0.

Then the Fisher information contained in

statistic T is
(a) 3
m, (2

3
{c) -3
(d) s %
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28. Let X, X,, ..., X, be a random sample from
the distribution having pdf
fix, 8) = e"(x_e), x>6.

Then by factorisation theorem we say that

31.

n
(a) Z X; is the only sufficient statistic for 8
i=1

n
(b) ~|[T{~1,. Z Xil| is jointly sufficient for 8
i=l

(e} X is sufficient for'®

(d) I Xnis i xi}- is jointly sufficient for 8 | 32

i=1

29. LetX;, X,, .5 X, be a random sample of size

n from N(8, 1) population. The complete
statistic for© is

X

X -Xy

2% - Xy - Xy

X + X+ Xy + X,

(a)
(b}
{c)

(d) 33.

80. Suppese (X, Y follows bivariate normal
distribution with means g, We; standard
deviations @,, o; and correlation coefficient
p, =1 < p< 1,where all the parameters are
unknown. Then for checking o, = gy i8

equivalent to verifying the independence of
Xand ¥

Xand X-Y

X+YandY

X+YandX-Y

(a)
(h)
(e)

(d)

DFSE-D-STT
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Let X, X,, X, ..., X, be iid random variables

with N(6, 1). The Bhattacharya bound for
g0) = 0% is '

, 2
W Tl
n n
_ 2
@ A
n
2
(¢) —=
:[.'l"2 .
2
{d) £+L‘3
o n

X, X5 Xj, .., X; beindependently and
identically - distributed’ randoem wvariables
from Bi(n, P}, then the maximum likelihood
estimator of P is

(a) E
n
b) X
o =
m
@
mn
Let X, X,, X3, ..., X, be independently and
identically distributed random variables with
3—32; D<x<#8
fix,0) =4 @8
0; otherwise

The UMVUE of 8" is given by

r P+ 3
(a) xrm[ 3 ]

T+ 3n

) r=_—

(b xm‘. In ]
an

{ o e

c) :fl'lL 3n ]
i an

(d xF
; )| r + Bn}




34. A random sample of 500 apples was taken
from a large consignment and 60 were found
to be bad. The 98% confidence limits for the
percentage of bad apples in the consignment
are
(Significant value of Z at 98% confidence
coefficient is 2-33)

(a) (7-62, 13-58)
(b) (861, 15:38)
le) (4-38,9-13)
(d) (3-08,6-14)

35, Consider the following statements :

The null hypothesis H; : 8 € 8, is said to be

composite if

1.--8, containg more than one point 6.

2. The joint distribution of (X, X, gy oo X)
is.completely specified.

3. Fortesting H : 8 & 8, against alternative
Hy: B € 8y at level o, the critical region w
is guch-that Pg(w) < aforall 6 € 6,

Which of the above are correct?

(a) land?2only

(b} 2and3only

(¢} 1and3only

(dd 1,2and3

DFSE-D-STT (8-

CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 9496817167 Email: cmscsirnet@gmail.com, www.cmsnetiss.com

36.

a7.

D)

Let X, X5, X3, ..., X, be a random sample

from U(O, 6+1). Which of the
statements is/are correct ?

following

1. The estimator [)_( = %J is the best
unbiased estimator of 6.

2. The joint probability density function of
X5, X5, Xq, ..., X, can be written as

1;, maxx; -1 <0 < minx;
i i
14 otherwise

fix, 8) =

Select the correct answer using the code given
below :

{a) 1 only

(b) 2 only

(¢} Bothland2
(d) - Neither1 nor 2

If X, X5, Xg, ..., X, is a random sample from
distribution U({0, 8), then the

unhiased estimators of 0 are

uniform

X
1. —
2
20 28X
n+1l1
3, — X
n
4 —Xa

Which of the above results are correct ?

(&) land 2
(b) ~ 2and 3
(e} 3andd
(dy 1and4
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38. IfX,, X,, Xg, ..., X, is a random sample from

uniform distribution U(0, 6), then
efficiency of 2X relative to n—“X(n) is
n

the

w 2
n
b 2
(b) 3
(c) n+3
3
(d) 8 _
n+2

39. If b, =§ and 9, =% are the estimators of
the parameter 8 of a binomial population and
H=§ , then the walues of n for which the
mean square error of 32 iz less than the
variance of ﬁl,nre
{a) "2=n<7only
(b} "1T=n<§6 only
{c) Y=n=<8§only
(di 1=n=4only

40. If Xy, X5, X5, ..., X constitutes a random
sample of size n from the population given by

I?'-E-H ; :J; D<x <8
flx o) = 3 B , then the
{ 0; otherwise
estimator of 8 by the method of moments is
{a) X
(by 38X
X
|:'-| —
c) 3
(d) X+38
DFSE-D-STT
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Consider the following for the next four (4) items :

An experiment was conducted to test for the

difference in the mean weights of a single species of
fish caught by fishermen in three different lakes.
The significance level for the test is 0-05. The

incomplete information is provided in the following

ANOVA table :
Source of | Degrees of] Sum of |Mean F
variation freedom | squares | S5 |statistic
Treatment - 17-04 Il
Error 9 - " -
Total 1 3508 |

41.

(9-D)

The null hypothesis for the analysis is

(a) Hp:py=po=i..... =g (= p)

(b)  Hg:py=py=pz=0

(e) Hgipy =pa=jig (=)

(d) at least one pair of fish populations

have same mean

If the critical value of F at 5% level of
significance is found to be 4-2565, what would
be the appropriate interpretation of the test ?
{a) Reject the null hypothesis and conclude
that all the populations of fish have
different mean weights.

Reject the null hypothesis and conclude
that exactly two of the populations of
fish have different meanweights.

Reject the null hypothesis and conclude

()]

(el
that the mean weight of at least one fish
population differs from others.

insufficient

claim that the mean weights of fish

{d) _There is evidence to

populations differ.
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43. The value of F statistic in the table equals 45.
(a) 246
(b) 426
() 624
(d) 852
44, If all the observations from three lakes are
pooled into a single group, they would have a
standard deviation equal to
(a) 2-000
(b) 1-414
(c) 4128
(d)s 5919 48.
Consider the following for the next three (03)
items :
In jorder to test the effectiveness of three different
teaching methods, three instructors were assigned
12 students each. The students were then randomly
assigned to the different teaching methods and were
tanght exactly the same material. The following
ANOVA table was obtained for the grades of
students who were given identical tests ;
Source Degrees | Sum 1;f TMB-H.';:I. F_*ra._tiﬂ
of squares | 858 47,
freedom (38)
Methods - 162 - -
-_Instruumrﬂ - | a0 - -
Interaction - 600 - -
‘Error 3 gop | - |
Complete the two-way ANOVA tahle 'with
interaction and answer the following questions,

DFSE-D-STT

(10-D)

The degrees of freedom associated with the
methods, instructors, interaction and errors
are respectively

(a) 2,2,95and 107
(b) 3,3,101 and 107
{c) 2,2 4and?27

(d}. None of the above

The mean sum of squares due to methods,

instructors, interaction and errors are
respectively
(a) 81, 45, 160, 33-33

(b}~ 81,45, 65, 8-41

(c) 54, 30, 584,841

(d) None of the above

The Fratios pertaining to methods,

instructors and interaction are, respectively
(a) ~ 9:63, b'35, 0-77
{(b) 2-43, 1-35, 450
(e) . 6-42, 3-57, 071

(d) None of the above
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P
48, Indepengent observations y;, yg, ..., ¥, have

49.

50.

DFSE-D-STT

been drawn from N(yu, czlxiz yi=1,2, .. n
where x;’s are not equal, uncorrelated with
the errors in the model and x; # 0, for all i.

The least squares estimate of p would be
2yi

(a)
(h)

(c)
2. X
Li=1

n
Z x:z}'i
i=1 I

fae B
2 |

Consider a two-way classification with one
observation per cell and interaction present

(d)

Y=oy +B +v+e; i=1,2,38,4, 5
ji=1, 38 4

Then the degrees of freedom for error SS are
fal 4

by 5

(c) 12

(d) "0

In a linear model Y, ; = X, B + e,
with usual assumption, if P = X(XX) X', then
(I,-P)X is equal to

(a) Null matrix

(b) Some matrix of order n x n

cd X
(d}

i |

|!1

61.

53.

(11-D)

b2, -
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Which one of the following organisations

compiles Consumer Price Index for
Agriculture Labour and Rural Labour
(CPI-AL/RL) ?

(a) CSO, Ministry of Statistics and

Programme Implementation

Office of Economic Adviser, Ministry of
Commerce and Industries

(b)

(e} Directorate of Economics and Statistics,
Ministry of Agriculture and Farmers

Welfare

(d). Labour Bureau, Ministry of Labour and

Employment

Which one of the following organisations

compiles and releases " vital statistics,

regularly, in India ?

(a)  Central Statistics Office

(b)  Registrar General of India
(c) Directorate General of Health Services
{d) International Institute of Population

Studies

General Fertility Rate (GFR) is defined as

{a) Number of live births per thousand
mid-year female population

(b)  Number of live births. per hundred
mid-year female population

(e} * Number of livewbirths per thousand
mid-vear female population in
productive age-group

(d) Number of live births per hundred

mid-year  female population in

productive age-group
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B54. Which one of the following sampling designs | 57. The Gross Value Added (GVA) by an

is most commonly used in NSSO household enterprise is defined as
surveys ? ; (a) Gross value of output ‘minus’ Final
consumption

(a) Simple Random Sampling Without
Replacement (b) Gross value of output ‘minus’ Export

(¢) Gross value of output ‘minus’ Inventory
(b) Systematic Random Sampling

{(d) Gross wvalue of output ‘minus’

(e) Cluster Sampling Intermediate consumption
{d) Two-stage Stratified Sampling

58. In National Aeccounts, Domestic Economy is

based on the concept of
{a) Residentunits

55. The subject matter of 78" round of NSSO

d (b} Currency
Survey is -

- F (c) _MNationality
(a) Drinking water, Sanitation, Hygiene

and Housing conditions in India (d}  All of the above

(b) Situation Assessment Survey of
Agricultural Household 59. SASA is associated with

: y ; (a) Agricultural Statistics

(e}~ Domestic Tourism Expenditure

(b} Wholesale Price Indices
(d)» “Household Consumption Expenditure
(e} - Scheduled Tribe Welfare

(d) Land Ceilings and Reforms

56. The most common survey period of NSSO
Household SBurveveis 80. The basic unit of data_collection in the
Agriculture Cénsus is

(a) JanuarytoDecember
(a) Operational bolding

B Apri . : .
L AT ot (b} Ownership holding

(c) July to June (c)  Household

(d) January to June (d)o None of the above

DFSE-D-STT (12-D)
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61 If m@WﬁWWé@&?ﬁgﬁm‘ﬁ%eﬂ, the [ or  Whati @ ctation of the Joss functice 3
width of the confidence interval for the : i on ot the loss function ?
population mean will be (a)  The risk function
(a)  multiplied by 2 (b)  The power function
(b) divided by 2 (e) The error funetion
- ' (d) The convex loss function
()  multiplied by 2
(d) divided by ‘/§ 66. TIf x > 1 is the critieal region for testing
Hy i 8 = 2 against alternative Hy:0=1, on
the basis of single observation from the
62. If 95% confidence interval for 4 when o'is population fix, 8) =ge where 0 £ x < o, The
known is (18000, 22000), the'value of the size of type-Il. error is
sample mean will be /
* e f—
(a)
(a) 18000 : e
(b) 20000 & L
(€ 22000 ®
(d) | 40000 (@ &xd
e
63. Factorization theorem for sufficiency is known (d) é
as
@ Rao-Blackwell theorem 67. IfX,, X,, Xy, ., X, lire i.i.d. random Variables
(b)  Fisher-Neyman theorem from N(yu, o°), 0 unknown. then the shortest
(¢) Bernoulli theorem confidence interval for u is given as
(d Cramer-Rao theorem r_ '
{a) X=t as, X+t as
'I!l—]. —_— I:I'-l. —=
2vn 2vn J
64. A statistic T = Hx;, X3, X3, ..., x) will be :
sufficient. for @ according to factorization r_ d ]
theorem iff-the joint pdf or pmf can be X Vate , B¢ (™ -3
expressed as \ 3 Vo g
i .
{a) 8, t). hix;, y Xg, v0.y Xo2il) 4a e
E-'( 1 x’E ] x'l'l () K_t'n_ll L™ Xq. T’n-—l —-;EL |
(®)  git, 0) . by, x5, x5,4.., x,) _ 2yn-1 #ya-1 |
{c) t, x;) . hix;, x5, %a, ..., x.: 6) : r._ = :'
¢ gt x 10 X2, Xg, ..., X, @Vt aag®rt o
‘oo "2vn |

(d)  glxy, x,, X3s -0 X5 8) . hixy, x5 Xgy ..oy Xy ) |-.

DFSE-D-STT (13-D)
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If o = P(Type-I error), B = P(Type-11 error),

then a critical region is said to be unbiased if

(a) a+p<1
b)) oa+p>1
ey o>f
d) ao<p

In paired t-test, the observations were
recorded in pairs. If the pumber of pairs is 10,

then degrees of freedom are equal to

{a) ,18
(b) 10
(o 9
(dy.. 5

Let X = Ny, o). If both p  and o are
unknown such that —= < Ji <5, o* > 0, then

which one of the following is mot & composite

hypothesis ?

(a) H:uspﬁ,ai:tcg
(b) H:y:u@,uzxz rsﬁ
(e E{iu=uﬂ,ﬂ2=ﬂ'g
(d) H:u}pu,crz:»ﬂg

71.

72,

Ta
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Whic owgm%ﬁg%ﬁgm is not 2a

sustainable development goal 7

one

Promote sustained, inclusive and

sustainable economic growth, full and

(a)

productive employment and decent

work for all
(b) End poverty in all its forms everywhere
(&)~ Promote regulated use of Al
id). Ensure access to affordable, reliable,

sustainable and modern energy for all

Which survey. of NSSO employs a rotational

panel survey design ?

(a) Periodic Labour Foree Survey (PLFS)

(b) Empluyment*Unemployment . Survey
(EUS)

(¢) NSSO Survey on Disability

(d) 'NSSO Surveys 71" Round-Health and

Education

If a survey intends to collect data on women
and child well-being in India, which one of the
following would be the least preferred choice
for stratifying variable for gelecting villages
within a district?

{a)~ Female literacy rate

(b) Child mortality rate

(¢} Number of individual units with 100 or
more workers

{(dY Sex ratio
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74. Who among the following can be engaged as | 76. Which one of the following organizations is
responsible for employing field enumerators
for conducting All-India surveys of NSSQ ?

ceénsus enumerators and Supervisors in

population census operation in Indig ?

1. School teachers W) GBRD
(b) DPD
2. Central government officials
(c) CPD
3. Local government officials _
d) FOD

Select the correct answer using the code given |
77... GDP is measured by which of the following

equivalent approaches 7

below :

a) 1and 2 only f

L Produetion approach
(b) 2and3 only
2. Incomeapproach

(¢) 1andS$ only 3. Expenditure approach

@  1,2andg Select the correct answer using the code given

below :

(@) land2only
(b) 2and 3 only
(¢) 1'and 3only
(d 1,2and3

76. Which of the following can be derived/drawn
from population census data ?

1. Sampling frame for conducting
All-India Survey with household as
ultimate-stage unit 78." Which of the following are components of

Physical Quality Life Index (PQLI) ?

1" Literacy Rate

2, Literacy rate

3. Average monthly PeT capita expenditure
(MPCE)

4, Sex ratio

2, Infant Mortality Rate
3. Life Expectancy

- ; 4. Per Capita Inconie
Select the correct answer using the code given ;

Select the correct answer using the code given
below :
below :

( 1, 2and 4

8) = @ 1, 2and 3

®  2,3and4 (b), 2,8 and 4

(¢) 1,2and3 (e)” 1,3 andd4

(d) 1,3and4 (d)y 1,2and 4
DFSE-D-STT (15-D)




Phone: 8113%%?;;35 9Ff9R MATHEMAT_ICS & STATISTICS TRIVANDRUM
, 6817167 Email: ﬁmscsirnet@gmail.com, WwWw.cmsnetiss.com Iy

79. Point to point inflation of a monthly Index 80. Which one of the following organisations

Number is defined as
designed ‘Ten Fundamental Principles of
Current Month Index Official Statistics’ ?
(a) - —-1|x100
Base Period Index

| (a) World Bank
) [ Curent Month Index _ 1} %100

'-‘r_LhﬁEmrx Index .
(1)) International Monetary Fund

Current Month Index |
2 _73ix100 i) | United Nations

(c) e
: | First Month Index of the year )

(d) Organisation for Eeonomic Co-operation

f Current Month Index 1
w [ﬁ_ﬂm G T
me Mont ex of last year and Development (OECD)

DFSE-D-STT
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ISS- EXAMINATION-2020
STATISTICS PAPER- 2(TWO)- SET-A

Number of items-080  No of items dropped-NIL Maximum Marks-200
1 C 31 C 61 C
2 D 32 B 62 A
3 B 33
4 A 3 D D
5 A
6 A
7 3 67
8 C 68 A
9 A A 69 D &
10 40 A 70 C
11
1 2 B
1 43 B
44 B
45 A C
46 A C
47 A 7 D -
1 C 8 A 78 |
1 B
2
21
22 é
23
24
25 5
26 B 56 A o
27 B 4]
28 D 58
29 C 59 D
30 B 60 A
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ISS- EXAMINATION-2020
STATISTICS PAPER-2(TWO)- SET-B

Number of items-080  No of items dropped-  NIL  Maximum Marks-200

31 C 61 C
32 D 62 C

OO |INO UV | WNF

59 D

60 C




CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 9496817167 Email: cmscsirnet@gmail.com, www.cmsnetiss.com

IS5- EXAMINATION-2020
STATISTICS PAPER- 2(TWO)- SET-C

Numbei of items-080  No of items dropped-NIL Maximum Marks-200
1 A 31 A 61 D
2 A 1ER C 62 B
3 B 33 C

4 B 34

5 C

6 B 3

7 B

8 C 68 A
9 C B 69 A
10 0 C 70 A
11 4 71 G
12 A

1 3 C

1 44 D

1 45 A C
1 46 D A
1 B 7 D B
1 B A 78

1 A 79

| 20 50 80 A
23 51

22 2

23 NipTo.toe
24 54 ' o

25

26 D 56 A

27 A

28 C 58

29 A 59

30 A 60 5
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1SS- EXAMINATION-2020
STATISTICS PAPER- 2(TWQ)- SET-D

Number of items-080  No of items dropped-  NIL  Maximum Marks-200

1 A 31 A 61 C
2 8 32 A 62 B
3 & 33
4 D
5 D 5
6 B
7 67
8 C D 68 A
9 9 C 69 £s
10 40 70 &
1
1 42 £
43 B
44 B
45 C A
46 A D
47 B 7 D
78
1 A 79
2 50 80
21 5
22 | : &
23 NE 1 X
24 4
25 A 55
26 A 6
27 B
28 B 58
29 A 59 A
30 D 60 A




